o|J
S
ol

ofg

@ | Hef do|7k gt

fe) o =1L =

]7\‘0]’—:T 21'94 37]7]' ZEH:]'
7}
=




CD Y 4, bABCD

CD, AB

W} -8 nABCD °|4 AB//

19

O
f=

ot

2.

T
Ho

G
o
%o

ol o




ok BAAAE ] S 9] Zol7t 26em olek. AD = 7em I
£ 73t

_--lem-_

vV V
0
it

- 6cm

1 o, AB

AB =26+2-7=06(cm)




4. ARG ABCD 7} vk T3} o] Foi3L ul, BAE o] 2718
SR il
A D
23°
56,
B E C
® 23° @ 25° ® 28° @)33° © 35°
A F D
(
D
\V
B E C

A E oA AB &} H3llot==
F 2} 5l /DEF = 23°

bkl

wetA (EAB = (FEA = 56° —

3442 0] AD o ¥h}

23° = 33°




ohg 1T 2 WHAPEY ABCD oA xy o] LS APl T3
L9
A D
B C
@ 36cm, 16cm @ISCm, 16cm @ 16cm, 36cm
@ 36cm, 32cm ® 16cm, 18cm

x=36+2=18(cm)




DC
SES

ko)

S I 22 nABCD ©4] AB = DC,
D = BC ©]" 0ABCD = HJAPAFE S
Hsl= pgolnt, Hl 7Ho B4 A &

A
2] 2 ALY B C

ol |l

8o of >>‘

E‘O

4 AC & o] EH tZH AC &= 4ZH ADC ¢ 4+zF
CBA 9] F5HEo| Hrt.

AB=( D )°]1,AD=( @ ) o=

AADC = ACBA ( ® &%)

/BAC = /DCA, /DAC = /BCA( @ )

kA T o] tiio] Zhzb (® SRR oABCD & H YAt
Hgo|rt.

ofl

® CD @ CB
® S5 (@)AB = DC,AD = BC
® By

@ AB//DC,AD //BC




S €3 -2 gABCD oA A 9 1%—Em
A< B2t §eh o|wl, DABCD 7t B aAMA
715 Fotefet.

AD //BCO|E& o = 40° o]t}
. /x=/B=180°-80°=100°




PPAAF ABCD oA /B, /D 9 ol5R A B
Aol ¥ AD , BC 9} ¥ H& A4 B
Petaul e 5 97 e A7

B F C
@ B=/D @ (EBF = /FDE
® (EDF = /DFC @ /BFD = /DEB

@ABAE = /DFB

B

AAEB , ADFC oA /A = /C, /ABE = /FDC , AB = CD
ol2g ASA F5o|tt.

w2t ED = BF, BE = FD ©]1 oEBFD + ¥ A G|}
® (BAE = /DFB 9|4 /BAE = /FCD ©]A]%+ /DFB # /FCD
olB= £ gt




E]_O

S FPAPHSP ABCD o4 AOBC 9] Ho]7} 30 cm? & w], DABCD
o] ylol=?
A D
0)
B C
@ 90cm? @ 100cm? @ 110cm?
@®)120 cm? ® 130cm?

OABCD = 4 x AOBC = 4 x 30 = 120( cm?)




10. o8 I9¥3 22 g3ArHY ABCD HE < gt A P o] ths}to]
OABCD 9] Yo7} 84cm? & o, AABP + ACDP 9] 3122

A D

@ 36cm?2 @ 38cm? 3)42cm?

@ 50cm? ® 54cm?

P £ A4 AD, AB °f B33% 24 EF, HG & 1oH

OAEPH , oEBGP , oPGCF , oHPFD = 2% B A AP o]},
AABP+APCD = AAPD+APBC 0|22 M3t HHol Yol

oABCD 9] % o|ch.

. AABP + ACDP = 84 x % = 42(cm?)




